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							Section A
Question One – Multiple Choice								[10x2=20]

	1.1
	C - pg 32

	1.2
	D - pg 107

	1.3
	A - pg 54

	1.4
	B - pg 36

	1.5
	C - pg 74

	1.6
	D - pg 113

	1.7
	B - pg 39

	1.8
	C - pg 65

	1.9
	B - pg 72

	1.10
	B - pg 123



Question Two – Match the columns								[10x2=20].

	2.1
	F - pg 150

	2.2
	D - pg 105

	2.3
	J - pg 86

	2.4
	C - pg 50

	2.5
	G - pg 56

	2.6
	L - pg 62

	2.7
	E - pg 72

	2.8
	H - pg 111

	2.9
	A - pg 107

	2.10
	P - pg 18


		











Question Three – Correct the statement	

	3.1
	RAF (Road accident fund) - pg 161

	3.2
	Joint venture - pg 39

	3.3
	TQM - pg 41

	3.4
	Sampling - pg 42

	3.5
	Job analysis - pg 54






	


QUESTION 4				SECTION B

SECTION B
QUESTION 4

4.1	Supply the missing information from the schematic diagram. 

	(a)
	
Employment Equities Act /EEA - Page 77                                                                                             (1)

	(b)
	
To ensure employees are treated in a fair manner at work - Page 81                                            (2)

	(c)
	
Skills Development Act/SDA - Page 79                                                                                                  (1)

	(d)
	Enforce all rights stipulated in the constitution
Promote economic development and labour peace - Page 66                                                        (2)


4.2	Write a brief assessment on the following results from the ratios.

	4.2.1
	The norm for the ratio is 2:1, which means that for every R1 the business owes, it has R2 of its own. Therefore, the ratio shows that the business is in financial trouble and will not be able to pay all their debt should it close - Page 18                                                                          (3)

	4.2.2
	The norm for this ratio is 1:1, which means that for every R1 the business owes, it has R1 of its own, however, this R1 does not include any stock (inventory) because it is difficult to sell stock when closing your business. Therefore, the ration shows that this business has enough assets to cover their liabilities. One could question whether they should be investing the surplus cash or if they have too many debtors - Page 18                                                               (3)



4.3	Complete the following schematic diagram by expanding on the acronym below. 

	(a)
	Commission - Page 51                                              (1) 

	(b)
	Conciliation - Page 51                                              (1)

	(c)
	Mediation- Page 51                                                  (1)

	(d)
	Arbitration - Page 51                                                (1)

	(e)
	Listen to both sides but acts independently - Page 51                                              (1)

	(f)
	Makes recommendations which are not binding in anyway - Page 51                   (1)

	(g)
	Instructs on how the dispute should be settled (legally binding) - Page 51           (1)












4.4	Complete the table below.  (The answers below are suggestions and the teacher must allow for a broader scope)

	
	The identified challenge:
	Discuss the impact on 
Mr Price.
	Discuss one possible solution to solve the challenge.

	4.4.1
	Mr Price Group Ltd shares dropped drastically after the announcement of the countries interim finance minister, Mr David van Rooyen.
	If the stock price consistently underperforms shareholders' expectations, the shareholders will be unhappy with management and look for changes.
Management possibly own shares and have a monetary interest in the company.
Creditors tend to look favourably upon companies whose shares are performing strongly.
Publicly traded companies stand vulnerable to takeover by another company if they allow their share price to decline substantially.           (2)
	Renew investors’ confidence by developing some positive public relations on the business, even CSR programme.
Think strategically and develop a growth, differentiation or other type of strategy to increase sales and renew confidence in the brand.
Continually scan the environment to identify any threats regarding a takeover.

                                                                (2)

	4.4.2
	One of your cashiers at Sheet Street are caught stealing money from the till on camera.
	Financial loss, depending on how long it is going on/ how much has been taken.
Other staff may see it as an easy option.                                                   (2)
	Mr Price needs to ensure all staff are aware of the code of conduct.
Staff and Mr Price need to be up to date regarding labour laws.
                                                                (2)

	4.4.3
	Total Sports has a ‘buy 1 get 1 free’ special on running shoes. 
	It may draw customers away from Mr price, therefore decreasing sales.
Once customers go look at the special, they may never return.
Customers become very critical of Mr Price prices.                                          (2)
	Mr Price can look at a similar or better promotion.
Mr Price needs to possibly use a value chain analysis to give better value to customers
                                                                (2)



4.5	PESTLE analysis: (The answers below are suggestions and the teacher must allow for a broader scope)
             Page 2 -8

	PESTLE factor
	Challenge being faced
	Strategy to overcome the challenge

	Political
	Zuma must fall campaign
Fees must fall campaign                          (2)
	Look at educational bursaries and internship programmes                           (1)

	Social
	Right to free education
Social media - Racism/ hate speech      (2)
	Ensure all staff know that hate speech is not accepted and that it is clear stated in the company’s code of conduct.           (1)

	Technological
	Standard Banks Snap Scan app to pay at the till point.
Online shopping
EPOSSE                                                       (2)
	Implement all new apps for customers
Ensure staff are fully trained on systems
Have a R&D department who is able to innovate from within Mr Price               (1)


												
													

4.6	Supply the missing information in the space provided.

	4.6.1
	The main focus of the recruitment process is to attract the most competent talent. The task of the recruitment agent is to determine the most effective communication channels to be used for the recruitment message - Page 56                                                                                 (2)

	4.6.2
	Employment agencies, newspapers, trade journals, trade shows, schools, colleges, varsities, Walk-ins, head hunted - Page 56 & 57                                                                                            (3)

	4.6.3
	The employee morale is improved if they know there are opportunities for promotion.
It is more cost effective.
The employee’s past performance and attitude towards to the business is known.   
Page 56 & 57                                                                                                                                        (3)

	4.6.4
	The person doesn’t know the inner running’s of the business.
The person may have looked good in the interview but they don’t perform as expected.
 Page 56 & 57                                                                                                                                       (2)
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QUESTION 5

5.1.1	Compare the growth of Mr Price Group Ltd shares and the JSE General Retailers Index?		(2)
· Mr Price has grown above the General retailer’s index consistently over the year.
· In June 2014, the difference was only marginal, however, it progressively increased to a substantially higher share price.

5.1.2	What could have contributed to the drop in share price seen in March/April 2015?		(2)
· Students can mention any relevant factors.
Example:
Mention of strikes, Political issues - disruption in parliament, increase in interest rate, change in management, etc.

5.1.3	Discuss diversification as an investment option/strategy.						(3)
Page 146
Diversification means all eggs are not kept in one basket. Consequently, not ONE of the investment vehicles (options) below is used to hold all reserves, but rather that a COMBINATION of these investment options is used to spread risks over different assets. 

5.1.4	Evaluate any two other investment opportunities in terms of risk and reward.			(8)
Page 148-156
Debentures:
Risk
· When the debenture is sold, it is often sold at a fixed interest rate, which has benefits and risks. Should interest rates drop, the debenture holder will be in the advantageous position that he/she will earn the higher interest rate on the debenture than what the banks offer. If, however, interest rates increase then the debenture holder may miss out on earning higher interest rates offered by other opportunities. If the debenture is sold at a variable interest rate Link at prime), this risk does not exist. 
· Because debentures are usually unsecured financial instruments, there are always risks of the business going bankrupt, with a consequent loss for the debenture holder of his/her investment. The degree of this risk will be determined by the company’s financial strength; and of course, the degree of risk linked to the projects / type of activity with which the business is involved. 
· It carries a higher risk than investments at banks, but a lower risk than an investment in shares, because creditors rank higher than owners to recoup their money in the event of liquidation. 
Return on investment (ROI):
· The company that issues the debenture is legally obliged to pay interest. This increases the potential for a return on investment when compared to shareholders, because the company does not have to declare dividends if the financial position does not allow it.  
· There is no capital growth associated with debentures, just a steady stream of interest.
· Because debentures are unsecured debt, the business has to offer a higher interest rate to potential investors to compensate them for the higher risks. 
· Remember interest income is taxable (above the threshold) and after tax is paid, the ROI on debentures seldom beats inflation. 

Retirement Annuities & Pension funds:
Risk
The risk associated with both a RA and a pension fund will depend on how and where the administrators have invested the contributions of members. 
We can also look at risk from a different perspective. Think how pension funds or RAs can help individuals to manage their risk of not having sufficient income to survive once they have retired (when they no longer earn a salary). 
Both RAs and Pension funds are tools to make provision for an income when the employee stops working and goes on pension. Unfortunately there are many people who do not make sufficient provision for their pension and as a result they cannot maintain their standard of living. 

Return on investment (ROI):
· The ROI will be determined by the prudent decisions of the investment manager that handled and invested the contributions. There are no guarantees and even if a specific ROI is guaranteed by the RA fund/Pension fund, it is important to compare this to inflation. Note: The figures regarding ROI given by the funds usually sound better than what they really are, because the funds make “predictions” of what they are hoping to achieve.
· Also be aware that most financial instruments (pension funds and RA included) will have administrative costs and management fees which will reduce the ROI. 

Endowments:
Risk:
· When taking out an endowment policy, the investor can choose the risk profile he would like to have – varying from high risk in an equity fund to a lower risk where a more balanced investment approach is followed. 
· If the investor has chosen to invest monthly contributions, it is possible (with some insurers) to add a Contribution Waiver, which means if the investor suffers from a serious illness or becomes disabled, consequently being unable to continue contributing to the investment, the insurer will pay the monthly contributions on behalf of the insured. This is a form of risk management that the insured can take out in the event of adverse circumstances. 

Return on investment (ROI):
· The ROI will depend on the risk profile chosen.
· There are management and admin fees that are deducted from the savings amount that will reduce the ROI. 

Off shore investments:
Risk and Return on investment (ROI):
Some of the reasons for choosing to invest in an offshore account may include:
· Diversification (when referring to offshore investments) means that risks are spread over different countries. Some countries are considered to have more stable markets (developed countries) than others (emerging markets). 
· Changes in exchange rates may make it more attractive to invest in another country. The Rand has shown a tendency to depreciate against the major currencies of the world – US Dollar, British Pound and the Euro. If the currency depreciates (get weaker) it is favourable for someone with an investment in a foreign country. To illustrate how a depreciating Rand can have a good ROI as a result, consider the following example: Suppose John has invested R5 in the USA at a time when the exchange rate was 1 $ = R5. This means he will have an investment = 1$. The exchange rate has since depreciated to 1 $ = R10. If John cashes his investment in now, he will get R10 for the original R5 that he invested. 
· There may be investment opportunities in other countries that do not exist in South Africa.  South Africa does not have oil and if an investor feels oil is a good investment to make, he/she will have to buy shares in an oil company listed in another country. 
· Someone may consider the option of emigration to a different country. Because of the exchange control mechanisms in place in South Africa, it is only possible to take a limited amount of money out of the country each year. It may then be a good idea to begin to an investment portfolio in the foreign country. 

Unit Trusts:
Risk:
The options available to choose from may vary from a high risk Equity fund where all funds are invested in shares, to a Stable fund where risks are reduced by diversifying investments between equities, international markets and even investing in some low risk money market instruments.  

Return on investment (ROI):
· A good Unit trust investment will outperform inflation over the medium term of 3 to 5 years. 
· The rate of return will depend on the risk option that was chosen, but will ultimately depend on how well the fund manager has invested the money. 

Collectables:
Risk: 
· To deal in collectables requires a high level of knowledge and expertise. 
· Any damage to something like a stamp collection, artwork or antiques will drastically diminish the value. 

Return on investment (ROI):
· If the article is truly a collectable, the value of the article will increase over time (provided there is no damage). 
· The disadvantage of this type of investment is that there is no monthly source of income for the investor. 

Fixed deposit:
Risk:
Money invested with the bank generally has a very low risk. The investment can only be “lost” if the bank is liquidated. It has happened in South Africa that banks have been liquidated in the past, a relatively rare event. However, take note of the situation where African Bank was placed under Curatorship in Augustus 2014 to understand that even money in the bank, carries some risk.     

Return on investment (ROI):
· The interest rate offered on a fixed deposit will differ from bank to bank. It will also depend on the amount of money invested. Generally the longer the time frame and the higher the amount invested, the higher the interest rate will be. Despite this, it can only be hoped that the fixed deposit (even with cumulative interest) will exceed inflation. Unfortunately, it is often not the case. 
· The only capital growth achieved with a fixed deposit is, if interest on the fixed deposit is capitalised (re-invested).  Cumulative interest is then earned on the original fixed deposit and the interest that was reinvested.
· If the investor decides that the interest must be paid out to him/her to supplement his/her income, there will be no capital growth.  
· The return on investment with a fixed deposit is usually low, but then, so is the risk associated with the fixed deposit.  

Money market account:
Risk and Return on investment (ROI):
· Money market accounts have a low risk, but offer a lower interest rate than longer-term investments.
· The interest rate on money market accounts usually outperforms normal savings accounts. This makes them attractive options for short-term investors. 


5.1.5	Explain the concept of investing offshore.								(3)
Page 153
· When one decides to invest locally, the decision has to be made about which investment vehicle (as discussed in this chapter and numerous other options available) is most suitable. 
· The same choices have to be made when investing in a different country (offshore). 
· Offshore investments are, therefore, quite challenging, but worthwhile investment options, if prudent choices are made.

5.1.6	As an investment broker, consider the following profile by taking South Africa’s current economic climate into consideration. After a critical analysis, make a recommendation to John on the most suitable investment strategy. 												(4)
Page 147
The two most suitable strategies are:
(Because he doesn’t need an income, he is young and can invest long term, it was an inheritance and he is already stable financially so he can afford the risk)

Growth Investment Strategy	
· High risk
· Long-term capital growth, rather than a monthly income
· Shares on the JSE may be considered, with Blue-chip shares reducing the risk factor somewhat 

Balanced Investment Strategy
· The investor is prepared to accept medium risk
· The aim is capital growth, but with some monthly income as well
· A combination of equities and some interest bearing investment like a fixed deposit will be considered or investment in property with a monthly rent income  

5.2	Refer to the following extract and answer the questions that follow:

5.2.1	Explain the concept of integrated reporting.								(3)
Page 99
Triple Bottom Line reporting or (Integrated Reporting) was introduced as a requirement for management. It was expected that management should not only focus on shareholders (profit) as an interest group, but that all stakeholders should be considered when strategies are formulated and implemented and consideration should also be given to the consequences of decisions for society (people) and the environment (planet).

5.2.2	Mention one benefit Mr Price Group Ltd could derive from following the King codes.	(4)	
Page 99
Companies are more likely to do the right thing.
Managers are more accountable for their actions.
They also act in the best interest of all their stakeholders.
It puts stands them in good stead for the SRI.

5.2.3	Consider how the following corporate governance principles have been implemented by 
Mr Price Group Ltd:

a) Transparency											(3)
Page 99
It is often thought that transparency refers to the fact that everybody has to know what decisions are taken and why they are taken. This is not correct. Some decisions may always be kept confidential. Transparency refers to decisions being taken in accordance with a set of rules and with which everybody is familiar and that these rules are understood by everybody. Transparency is of course a pre- condition for accountability, because if there is no transparency, how will it be possible to hold someone accountable for decisions taken?  

b) Independence											(3)
Page 99
It means there is no conflict of interest and that there are no unfair influences from any stakeholder that will result in a biased or unethical decision being taken in favour of a particular person or organisation. Although networking is a critical component in a person’s and business’ success, it may reduce the independence of decisions taken in the business if the decision maker feels he/she has an obligation towards someone they have networked with.

c) Discipline												(3)
Page 99
When one looks at discipline, the starting point is always self-discipline. In a business environment, this relates to the integrity shown by management, when important decisions are taken. 
If management does not make responsible decisions, the market will punish the business. This is referred to as market discipline. When buyers of the product or investors in the business realise that management is acting   incompetently or that they are promoting their own interests above those of the business and relevant stakeholders, the market will react by sanctioning (punishing) this corrupt behaviour. The punishment will be to stop using the business’ products and/or services and possibly sell shares owned in the business. This may result in a lower market capitalisation (lower share price), which could even result in the collapse of the business. 

5.3	Refer to the following extract and answer the questions that follow:

5.3.1	Critically evaluate any one applicable leadership style that senior management at Mr Price can utilise to ensure their staff are able to achieve the set company objectives.			(4)
Page 86
Democratic: A manager that follows a democratic leadership style, allows subordinates to                               provide input and participate in the decision-making process. It is, therefore, not surprising that the democratic leadership style is also sometimes referred to as the participative leadership style. The advantage of this style is that it usually ensures “buy-in” and commitment from people involved in the process. However, a disadvantage could be that it may lead to slower decision making when the manager allows participation from all. 

Autocratic: An autocratic leader seldom allows for input from subordinates and makes all decisions. In certain circumstances this may be the best approach; if, for example, there is a crisis and quick decision making is required to solve a problem or to implement a strategy that may not be popular with all staff members. The disadvantage of an autocratic style is that employees often have a low morale as they feel undervalued by the manager.

Laissez-faire: A manager that follows a laissez-faire management style believes that he/she should not interfere in the process of carrying out a task. This manager will tell employees, what he/she is expects from them, but will allow them to do the task without interference. This management style may yield excellent results, if there is a highly-skilled workforce, motivated to perform optimally.

Transactional: The transactional leadership style can be described as an approach of “give and take”, with the manager motivating employees to perform their tasks in return for possible (salary/bonus/other benefits). The problem with this style is that as soon as employees regard the reward is insufficient, they become demotivated which often results in labour unrest. The previous factors, when combined with the following:  a workforce of many low-skilled 

Transformational: The transformational leader is charismatic by nature. He/she will motivate employees by helping them to understand the meaning of their work. This type of leader places the emphasis on teamwork; he/she will make time to explain to the group “why they matter”. This builds confidence and trust between employees and management, consequently the individual and group performance improves in terms of creativity, problem solving and productivity. People are often inspired and motivated to such a degree that they surpass their own expectations. This happens more often if the manager not only leads his team, but also empowers team members to achieve their full potential. 

The situational leadership style is a combination of all of the above leadership / managerial styles. The manager will adapt the management style to whatever is required in the specific situation. If the situation requires disciplinary action to be taken, he/she will adopt an autocratic style. If the group of employees are artistic and do not respond well to too much structure, the manager may opt for a laissez-faire approach by simply advising what needs to be achieved. He thus avoids being too prescriptive about the method of achieving the goal. A democratic, transactional or transformational style will be implemented where it will yield the best results.      
											
5.3.2	Differentiate between a manager and a leader.						(4)
Page 85
A manager is appointed in a position of authority which enables him to insist on people doing as he/she instructs.
A leader has the expertise to make people aware of the advantages of pursuing a certain course of action, thereby creating a desire in people to follow him/her to achieve a common goal. 

5.3.3	Motivation is an important aspect in any organisation. Discuss any two non-monetary factor that management can use to keep their employees motivated.					(4)
Page 88
· Job enlargement: This refers to a situation where additional tasks are added to the original job. This may motivate the employee if he/she feels there is less repetition (the job is less monotonous). It is, however, important to make sure the employee does not become demotivated when he/she feels more work has to be done for the same salary.
· Job enrichment: The employee gets more responsibility and often more authority. The employee thus feels he/she is trustworthy, and on a personal level he/she may believe it is possible to achieve his/ her full potential.  At times it may be necessary to give the employee additional training to ensure skill levels match the requirements of the task.
· Empowerment and advancement of the employee: If employees are given opportunities to develop by learning new skills and gaining wider knowledge to be applied when they are offered new challenges and responsibilities, they will feel that it is a win-win situation as the business gains from their new competencies and they may have more to add to their CVs.
· Flexible hours (if possible): Life is fast and does not wait for anybody. People experience strain from demands on their time from family and friends, hobbies and a number of activities. By allowing the employee to decide which hours should be allocated for work and various activities; motivation levels in all probability will increase to get to the work done efficiently, speedily and to a high standard. For instance, a mother who needs to take her kids to school and desires to spend afternoons with them may choose to wake up a few hours earlier and go to bed later, if she meets her work requirements and other activities during the hours when her kids do not need her. 
· Recognition of good work should preferably be done openly in front of office colleagues, while reprimanding an employee (also a form of motivation) should be done in a closed office in private. One form of recognition is the “employee of the week / month” programs that some businesses utilise.
· Employees are more motivated when they feel appreciated. This can be achieved through recognition (as mentioned above), but also by allowing employees to be part of a successful team, including them in decision making (where appropriate) and by respecting their opinions. 
· Some employees prefer precise instructions for tasks or work to be performed. This certainty often increases motivation levels and job performance. Other employees may prefer to work independently and not want constant supervision or questions about their performance. 
· Wellness programs such as child care facilities, time off, assistance with household problems such as bursts geysers, free parking or gym membership may also motivate some employees. 
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Question 6

6.1	Refer to the scenario below and answer the questions that follow:
6.1.1	Identify the above reason for dismissal.							(1)
Page 69
Misconduct

6.1.2	Critically analyse the dismissal under the following headings:
a) Substantive fairness								(3)
Page 69
· The employee contravened a rule or standard in the workplace 
· The rule or work standard that was contravened, was a valid rule or reasonable standard
· The employee was aware or could reasonably be expected to have been aware of the rule or standard
· The rule or standard is consistently applied by the employer
· The appropriate sanction for the contravention of the rule or standard is implemented (verbal warning, written warning or dismissal - whichever is appropriate)

b) Procedural fairness								(3)
Page 69
· The complaint should be put in writing and fully investigated, with the investigation process recorded in writing. This may include taking statements from the complainant and all witnesses.
· The accused should be advised of the full nature and details of the charge/s against him/her and given full access to all written statements collected.
· The date, time and venue of the disciplinary hearing should be given to the accused in writing.
· The accused should be given reasonable time in which to prepare and to appoint his representative for the disciplinary hearing, but it is important to not delay the disciplinary hearing unnecessarily. 
· The accused is entitled to have an interpreter if he/she is not comfortable with the language in which the disciplinary hearing will be held.
· The complainant presents his/her case first by giving evidence and calling witnesses to testify. The accused is given an opportunity to cross-examine witnesses.
· The accused then presents his/her defence and calls his/her own witnesses. The complainant will have the opportunity to cross-examine the accused's witnesses.
· The Chairperson of the Disciplinary Hearing decides on the guilt or innocence based on the evidence presented by both sides. At this stage no aggravating or mitigating circumstances are considered - only the facts relating to the disciplinary issue. 
· The Chairperson decides on the verdict. If the accused is “not guilty”, this is confirmed in writing and given to the accused, and the matter is closed. If the verdict is one of “guilty”, then the Chairperson considers aggravating or mitigating circumstances and decides on a fair sanction (punishment).
· These aggravating or mitigating circumstances may include the age of the employee, employee’s state of health, length of service, level of education, position in the company, remorse shown or any other valid point. 
· The Chairperson will advise the accused of his/her rights to appeal and to take the matter to the CCMA.

6.1.3	List any other reasons an employee may be dismissed for.				(2)
Page 68 & 70
Incapacity
Operational reasons

	6.1.4	Identify one ethical issue in the above scenario.					(1)
Page 105
Buhle misusing company time
Jason not being fair to all employees

6.2	With Buhle gone, Miladys will have to fill this position. Name and briefly discuss any one activity in the process of procuring a new staff member, which would occur after recruitment.	(4)
Page 57
Selection
Once the recruitment process is complete, the selection process begins by identifying the most suitable candidates to interview for the position. Selection consists of a number of steps and ends with the employee signing the employment contract and filling the vacant position. 

Placement          
The employee is usually placed in the position for which he/she applied. It may emerge that the employee has a special skill, making him/her more suited to a different position in the business. The business may re-negotiate remuneration and other benefits with the employee before engaging him/her in this position. Correct placement ensures the employee is optimally utilised in the best interests of both the individual and the business.  

Induction
Induction is not the same as training for a specific job. Induction is training (orientation), given to all new employees to help them to become productive role players in the business as soon as possible. 
There is no “one-fits-all-recipe” for a good induction program. There is, however, standard information that should be included in an effective induction program. 

Remuneration and employee benefits
There are a number of ways in which employees should be rewarded for their hard work in the business. Remuneration and additional benefits that have a monetary value are part of reward systems to enable employees to maintain a certain standard of living. It is also one of the biggest operating expenses that the business will incur. Salaries and benefits are an important issue from both the employee’s and the business’ point of view. 


6.3	Discuss the term remuneration.								(2)
Page 59
Remuneration is the compensation that one receives in exchange for the work or services performed. Typically, this consists of monetary rewards, also referred to as wage or salary.

6.4	Refer to the extract below and answer the questions that follow:

6.4.1	Explain what Mr Price Group Ltd stands to gain by having this positive outlook on CSR.	(2)
Page 111
· Media attention and positive publicity 
· A better functioning society, because some of the socio-economic problems may have been addressed
· Making a sustainable difference in the lives of people
· Scoring more points on the JSE SRI (see below) if the business is listed on the JSE
· An image of the business as one with a sound Corporate Governance record (King reports expect businesses to become involved in CSR)
· When CSR becomes part of the organisational culture, it unites team members in a common aim to achieve expectations over and above the official job. CSR may thus lead to better teamwork, including the advantages associated with successful teams. 

6.4.2	Expand on the benefits CSR holds for the community in particular.				(3)
Page 111
· A healthier environment (less pollution) results in healthier people
· More skills lead to less unemployment, which may contribute in a higher standard of living, less crime and a more productive society. 
· Better control over diseases such as HIV / AIDS and TB due to education and preventative measures
· Feedings schemes make better education possible, because children can focus on their schoolwork, rather than being distracted by hunger.
· Individuals may be sponsored for a sporting event or school career which makes a difference, even if it is on a small scale. 

6.4.3	Discuss the concept of the SRI.								(3)
Page 112
· The JSE SRI was launched in 2004 with the intent and purpose to:
· Identify the companies listed on the JSE that focus on good governance and that use triple bottom line principles (environmental, social and economic sustainability) in their reporting 
· Measure the policies and procedures of companies that are listed on the JSE against globally acceptable CSR standards
· Give investors a non-financial standard to use as a tool when making investment decisions
· Promote responsible business practice in South Africa and beyond

6.5	Refer to the pictures below and answer the questions that follow:

6.5.1	Differentiate between the two types of conflict depicted above. 			(4)
Page 46
A - Dysfunctional conflict
When conflict leads to a decline in productivity, it is often the result of people’s misperceptions, their ambitions and egos and/or an unwillingness to compromise. Misunderstandings and a lack of communication are central to dysfunctional conflict.  The manager has to step in if the conflict situation has a negative impact on productivity to ensure that the conflict situation is resolved; dysfunctional conflict may continue to hinder group performance, waste resources, be counterproductive, and undermine group cohesiveness. If a compromise cannot be reached between the conflicted parties, the manager may have to force employees to set aside their differences and cooperate to achieve the goals of the organisation.  

B - Functional conflict
Refers to a situation where the different parties deal with the conflict in a manner that is healthy and where they respect each other’s opinions. The outcome of functional is positive, and sometimes it may lead to more innovation, creativity and higher productivity.

6.5.2	Mention any two possible outcomes from the conflict situation depicted in picture B.	(2)
Page 46
· Conflict may create awareness that there is a problem, which can then be solved.
· Team members may start to consider a wider range of ideas, which may result in increased participation by people who were not interested before (no more “group-think”); creativity and even higher productivity may be stimulated.
· Perceptions that may not be accurate are discussed and misconceptions cleared.
· Clarification of individuals’ views occurs and cooperation ensues.

6.5.3	Describe any three possible outcomes from the conflict situation depicted in picture A.	(3)
Page 47
· A climate of mistrust that has a negative impact on teamwork and cooperation
· Blaming each other, backstabbing and gossip
· Higher levels of stress and anxiety which contribute to lower levels of job satisfaction 
· Lower morale and increased staff turnover (which result in higher costs)
· Waste of time and other resources
· Sometimes even violence
														
6.5.4	List any three reasons the above conflict could have occurred.				(3)
Page 48
Different personalities
Different cultural backgrounds
Poor communication
Change
Limited resources
Previous unresolved issues


6.6	Refer to the Mr Price advertisement below and answer the questions that follow:

6.6.1 	Explain the intention of using the pricing strategy above.					(2)

Page 125 
Pricing has been used for the following reasons:
· Leader pricing refers to a situation where the business reduces the price of some products to get customers to come to the shop. For example, Shoprite may decrease the price of burger patties hoping to convince customers to buy bread rolls and tomato sauce and maybe even oven-bake chips as well. 
· Promotional pricing refers to discounts offered for a special event, such as a special on bubble bath close to Mother’s Day OR increasing the prices of red roses just before Valentine’s Day.








[bookmark: _GoBack]6.6.2	Discuss how the price of a product could slow product growth down within 
Mr Price Group Ltd.										(3)
Page 125
The demand for necessities such as basic food will probably not decrease too much if there is a price increase, because consumers have to keep buying these products regardless of the price. On the other hand, a small price increase in luxury products / services (e.g. movie tickets) will probably see a relatively big decrease in the demand. 

6.6.3	Discuss the importance of ‘Place’ as one of the 7 P’s of marketing for Mr Price Group Ltd. (2)	
Page 125
To ensure the consumer buys the product, it has to be distributed to a venue (outlet/shop) that is conveniently situated. At the retail outlet, special attention should also be paid to aspects such as the availability of parking (or public transport), the location of the store in the shopping mall and displays in windows to attract customers’ attention. 
													
6.6.4	Evaluate the importance of Mr Price Group Ltd employees when it comes to marketing the business.													(3)
Page 128
· The attitude, behaviour, skill, morale and motivation levels of the employees are just some of the variables that may have a noticeable effect on the service experienced.  
· The customer’s perception of the quality of service may directly influence the degree of his/her satisfaction and future purchase intentions.
· Because the employee is the face of the business, the business must make certain that there are sufficient control mechanisms (positive rewards or negative punishment) in place, to ensure contact employees will protect and promote the brand and the reputation of the business. 

6.6.5	Compare the two pictures of liquid soap below and discuss the importance of packaging for Mr Price Home.													(4)	

Page 124
The Packaging of the product:
A. Is convenient and eye catching where B. is not eye catching and will not entice customers to buy the product.
· It helps to protect the product and may make it easier to stack the items on the shelves. Think about the shape of Coke cans and how they fit on top of each other or why beautifully shaped perfume bottles are packed in boxes. 
· It helps to identify the manufacturer by displaying the name and trade mark and brand (see the separate discussion on brands and trademarks later in this chapter).
· It gives the consumer valuable information on the ingredients used in the manufacturing of the product. 
· It helps to target different segments of the target market. Think how packaging of different sizes is used by McDonalds. The Happy Meal comes with a small hamburger (and even includes a toy) as opposed to regular size burger.
	50 Marks
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